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1. [FIFO Scheduling](15 points) Consider the greedy first-come first-serve coloring of interval graphs, where the n intervals all start and stop at integral times 0, 1, 2, …, t for t ≤  n. Intervals that overlap only at end points are not to be considered to yield edges in the interval graph. Describe an O (n) procedure for first building the event list data structure from the list of intervals assumed given by start and stop times. The event list is a temporally ordered sequence with each interval occurring twice. The first occurrence of each interval is determined by its start time and the second occurrence by its stop time. Then describe and analyze an implementation of the coloring procedure employing the event list data structure that operates in O(n) time and space that colors with a minimum number of colors. Provide a walk-through of your coloring algorithm for the graph with the event list ZWXTZVYYXQWUVSUTRSRQ.
Provide an algorithm determining the degrees of all vertices in O(n) time from the event list for the interval graph. Walkthrough your algorithm for the above graph (provide a drawing of the graph). 

Reference: Text Problem 16.1-4, p. 422
2. [Matching Substrings] A matching substring pair of length k in a binary bit string b1, b2...bn is a pair bibi+1... bi+k-1 = bjbj+1...bj+k-1, with i not equal to j, of identical k-bit substrings. 

(a) Determine a maximum length binary string with no matching substrings of length 4. 
(b) Describe the suffix tree algorithm for determining a longest matching substring pair and give its time and space complexity. Apply the algorithm to find the longest binary string match for the first 62 bits of 

π = 3.11037 55242 10264 302158



Reference: See notes on web page.

3. [Graph Degree Structures] Describe data and record structures for vertex ordering and vertex or edge coloring (or labeling) and a suitably greedy graph search algorithm to solve each of the following problems in the time bound indicated. Illustrate each algorithm with vertex or edge coloring (or labeling) on a graph or tree designed to teach your algorithm. The graph (or tree) should have at least 18 vertices and a maximum degree of at least 4. The graph should be connected with a minimum degree 3. 

i) Find a maximum independent set in a tree in time O (|V|).

ii) Find some “k-connected” pair of vertices u, v in the graph having k = min {degree (u), degree (v)} edge disjoint distinctly colored (labeled) paths between u and v in time O (|V|+ |E|) using maximum adjacency search. Identify all the sets of pairwise k-edge-connected vertices using the "k-1 cycle" observation discussed in class.

Reference: For (ii) see web page Project Description for Maximum Adjacency
                    Search and the example walkthrough.
4. [Division] Divide the 16 digit value N by the six digit integer D obtaining the quotient Q and remainder (or sign of the remainder) R by the following division algorithms. Discuss your steps and method for obtaining the remainder (or remainder sign in (c)). 

(a) Long division (show only six digits of the answer with partial remainder); 

(b) Prescaled division (using a 4 digit reciprocal); 

(c) Convergence division (using a 4 digit reciprocal). 

(d) Four factor division (using 2 digit index LUT, find leading 8-digit result).

N = 3579097531086357 

D = 427583

Reference: See chapter 5 of Kornerup and Matula reference.

5. [Radix and Digit Set Conversion] Note: Explain your conversion procedures for each part. 
 (ref: pp. 20-30, 59-65 of K + M).
(i)
Convert the following 16-bit integer x to standard radix 4 and to Booth recoded radix 4 (digit set { -2, -1, 0, 1, 2 }). Check the answers by determining digit sums module 3.



 x = 1010 0101 1100 01112 


(ii)
Employing the right-to-left DGT algorithm, convert the following 6-digit decimal y to symmetric ternary digit serially low order digit first using decimal (source system) arithmetic. Then convert high order digit first using symmetric ternary (target system) arithmetic.



 y = 314, 159

(iii)
Employing the right-to-left DGT algorithm, convert the following 14-digit standard radix 12 number to radix 6. Use digit recoding techniques for multiplication/division by certain small integer factors of 12 as discussed in class.



 2A397B4815502612
6. [Random Geometric Graphs: Smallest Last Ordering] Implement the smallest last ordering algorithm applicable to graphs of up to 10,000 vertices. For the RGG’s G (200, 0.16) and G (1600, 0.06) considered in problem set #2:
(i) Plot the degree when deleted list for both graphs, 
(ii) Display the remaining graphs after 10%, 20%, 50%, 80%, and 90%, of the vertices in smallest last order are removed. For G (1600, 0.06) display only the vertex sets.
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